Akira_Uchiyama@kyuden.co. jp

Causal Loop

1986

Causal Loop

Powersim

[1]

Verbal Model



1

A
<]
Xt P
1986

10

2003

—————————~

XZK

y(1)

(1)

f

)

GDP(10

(PI:10

)

(PC:10

)



GDP=0.776PI, 1.551PC, 110327.6 (t: )

(t =17.2) (H4.3) (@B4 R )=0.998
GDP
GDP
GDP GDP
GDP
(L1:%) (S1:%)
(L1A:%) (BM: )

L1,=0.45851, 0.228LIAt 0.028Mt 2.113

@5.4) (5.5 (-7.0) (5.7)  R=0.971
(SI:%) (PI:

) GDP( ) GDP(GDPA:1000 )
(GD: ) 1 (e 19

S1,=0.107PI,  3.354(GDP/GDPA), 0.008e,.,

8.1  (0.7) @.0)
0.016D, 32.171
(6.9 (-24.0) R=0.960
GDP  GDP
(SP: ) (SS:%)

GDP( )  GDP(GDPA:1000 )
(TN —  (SID:%)
(BL: )

SP,=0.0675S, 3256. 785(COP/GOPY), 2084.1751,

7.2 7. D (10.4)
1705.341SID, 0.005BL, 38450.44
(-14.4) (-8.3) (-7.4)  R=0.912
(e: 19) (sP: )
GDP( )GDP( ) GDP(GDPA:1000 )
SI%) A (ASI:%) (IM:
) (ei: ) (nP)

e,=—0. 4165P—0. 49360P—9. 189(CDP/CDPA),

(-2.5 -12.7) (-3.6)
4.93951—2.217AS1, 27.573l, 3.309i,
@.4) (-1.4) (10.0) 3.3
—0.43511P, 393.14
(-3.3) 3.8 R=0.85
GDP GDP
GDP,
EX: ) 1
(. /$) GDP( )  GDP(GDPA:1000 )
(11P)

EX,=0.009,, 0.394(GOP/GDPA), O.04111P,
1.3 (-30.8) (24.0)
1.166
.5 R=0.945



(11P) 6
2] 6

(SPIIP: ) (SP:

SP.o/I1P, =5.8335P, 35.824

(27.6) 5.5 R=0.885
Mx+CD(MS: ) (BM:
) 1 (SI%) 1
(BL: )

MS,=3.6238l, 2.22351,, O.768BL,, 21.5557

#.49) (4D #.7) 3
R = 0.990

(GD: )
(GC: )

GD= 0.00236C,  0.1519GC7-5.4142GC, 537.28
R =0.9326

600

€ sho |
500 |y =0.0023x - 0.1519%" - 5.4142x + 537.28
450 R’ = 0.9326
400 |-
350 |-
300 |-
250 |-
200 |-
150 |

100
50 60 70 80 90

=

(BHN: )

(GD: ) (BHS: )

BHN,=0.169GD, 0.272BHS, 51369
(44.5) -7.0) GB.6)  R0.952

(BL: )
(BHN: ) (SI:%) M2+CD(MS:

BL,=9386.1MS, 2.954BHN, 48002.551, 359239
(42.5) (-29.7) 7.5 .3

R=0.957
(PI: )

BL ) 1 (L1%) 1

(EX: ) (Gl )

P1=0.246BL—6795.5L1,.;, 2.027Gl, 4.34EX

@54 (3.3 (-20.6)  (33.5)
300351.6
©.49) R=0.937
GDP

)



[2]

Causal Loop
(3.2
Causal Loop
Causal Loop
5 o -~GDP
[1]
M2+CD
. N -GDP -
FILAA < (=
&

AR ‘}‘ T
AN \ I
Ot '
PR j

o

,»»»»//’ .

& i

Wi fﬁﬁﬁ
SR F

‘ RS
SETEERRS  RREE

& nemms () mEEH

O ®
O—=0

ACENT
BOVREZ S

chiViENrd 4
SO iEhn

7 Causal Loop




0.960 0.900

i i i i i i i i i
N N ~N N N N N ~N N
[{e) [ee) o N < [{e) [ee) o N
[ee) [ee) D [e2) [e2) D [e2) o o
Es
M2+CD
M2+CD
0.943 0.842
M2+CD
M2+CD
M2+CD
M>+CD 0.99
0.953
800 130
M2 CD(
M2 CD
AUV o ( A 110
600
90
500
170
400
300 1 50
200 — 30
— — — — — — — — i
N N ~N ~ ~N N N ~N ~
[{=) [ee) o o < [{=) [ee) o o
[=e] [ee] [=2] D [=2] [=2] [=2] o o
o M2+CD

M2+CD

M2+CD
Powersim  Solver
M2+CD
(SI:%) (PI:
) GDP( ) GDP(GDPA:1000 )
GD: ) 1 (e: 1%)

S1,=0.177PI, 4.22(COP/GOPY), 0.014e,,
0.0186D, 45.62

Ma+CD(MS: ) (BM:
) 1 (SI%) 1
(BL.: )

MS,=3.518My 4 0 2.1551., 0.74%8L,, 54.15

3.29

(PI: )

BL: ) 1 (L1%) 1
(EX: ) (Gl )

Pl=0.126BL —4356.3L1,.; 0.588G1, 5.79EX +;

260262.6
€ /%) SpP: )
GDP( ) GDP( ) GDP(GDPA:1000 )
(SI:%) A (ASI:%) (IM:
) (ei: ) (1P)



0.953

0.957

e=—0. 4515P—0. 60360P—12. 8(GDP/GDPA),

Iy 123

4.12451—1.96ASl, 21.47l, 4.26e

—0.0711P, 453.5

0.960

3.29

0.842
0.937

0.858

0.937

0.900
0.960

90

110
100

90
80

70
60
50

40

(@]
™M
1/20 o
1/20 o
1/00
1/00
O
1/86 ™
/ 1/86 o
w o
1796
o0
S 1/96
V4%
/ve 1/v6
1/26
/ 1/26
T
/06 1/06
1/88 1/88
(@]
1/98
skt Y /98,
] = o o o o o o o o i
& S 2§ I 8§ g ° H
1/¢20 T/20
1/00 T/00
1/86 1/86
1/96 1/96
1/v6 T/v6
1/06 1/06
1/88 1/88
T
1/98 = o o o o o o o 9%
© o ¥ = 8888 8E§

M2+CD

E11

0971

Mx+CD



88/1
90/1
92/1
94/1
96/1

35000
30000
25000
20000
15000
10000

5000

86/4
87/4
88/4
89/4
90/4
91/4
92/4

93/4
94/4
95/4

98/1
00/1
02/1

(|

= 86/1

86/1 03/10
03/10 04/6

SD

E15

88

[2]

86
16

96/4
97/4
98/4
99/4
00/4
01/4
02/4
03/4




2000 01

GDP
GDP
E17 86/1 03/10 20
16
2002
16
Causal Loop (GP:Genetic Programming)
[1]
Causal Loop [2]

P64



